
 

 

 

 

  )��� 8: (ا�
	��� ا�ول
� ا������ت ا�������� أو "!  و �$�  :أ)' &%

  .;?:-� �2+ن ا�	�4�5 &$� ا�<=ء و ;:�9 -8	�7 أ��6 -� ا�	�4�5 ا��3ر�� �2+ن ا�%+رة .�$�$� و -�,+&� .1
............................................................................................................................. 

2. �AB7��& ك��
	� �!9+
 ...................................................... .v = d/t: ���7 ;� ا��5;� ا�	
3. �AB7��& ز�F( �2 -� ��ف,F
 ..................................P = U/I: ���7 ;� ا��:رة ا�H�&�F2$� ا�	5
4. 7��AB7��& ز�F( �2 -� ��ف,F
 .E = P/t: �� ;� ا�!��A ا�H�&�F2$� ا�	5
5.  Kإذا آ��P  اط و+��&t  نP4 �$��Q��&E  +اط��9;� –�2+ن &�..................................................... 

�5ر;� .6- T
��ك �2+ن .�آ
- �;�9 UA�?
� �-:?;.............................................................. 
� هWا ا�$7' &�9:7 -8	�7 .7�  .;?:-� �<2+ ا�7$� -� �+ل ا��%�، �
2+ن ا�%+رة Y�A ا�<�2$� و �%
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  )��� 8: ( 	��� ا���Q=ا�
-I  �$	9[ا �Fر�:A د�� -2+اة�; �]%& Y6>�P = 800W  [�7ل�ا ��+
 U = 220V&+ا9!� ا�
$�ر ا�H�&�F2= ا�	?_�= ذي ا�
.  

 ...................................................................ا.5' ا�<:ة ا�[�7�� �,
$�ر ا�H�&�F2= ا�	�ر 4= ا�	2+اة .1
  .و &��8+ل�9;�  –&��+اط  30minا.5' ا�!��A ا�H�&�F2$� ا�	5
F,�2 -� ��ف ا�	2+اة "Bل  .2

................................................................................................................................... 
 .8488kWhو b =4"� ا�<�F إ�`  Y6>� �-:?;8407kWh ا�	2+اة و أ)F_ة أ"�ى، �<$� ا�7:اد 4= &:ا�� ا�<�F إ�`  .3

 ......................................................................أو): ا�!��A ا�H�&�F2$� ا�	5
B" �2,Fل هWا ا�<�F  .أ 

�5ب ا��9+م 0,95DHه=  1kWh آ,[� ا.5' آ,[� ا�!��A ا�	5
F,�2 ;,	� أن  .ب .�&.  

................................................................................................................................. 
-II  ��$e- ��$f ge�AB  T�+�1cm  3ر����ا �F
 ;� و ��f=3cm :7;	+د�� ;,` ا�	�+ر ا��%�ي �8- �9:7	4�5- �7

�+ر ا��%�ي A، و ا�?�!� 2cm: -�آ_ه� ا��%�ي ب	,� =	
?�.  
 ......................................................................................................ا.A '5+ة ا��9:7 .1
 .AB أ�<h ه?:9$� �+رة ا�<=ء  .2
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 l��Q�ا ���	
  )��� 4(ا�
� ;?:-� ا�
�,K إ�fرة ا�e+ء -. -� إ�fرة ا�e+ء ا�.	� mA+�200m أ.	: &5$�ر�T 4= 5,9,� -� ا�5$�رات ;,` &7: 


+9!� ا�5$�رات  Kا�.	� إ�` ا�,+ن ا�"�e ا�!,�- �;�5&v=15km/h.  
5
�6ق -:ة ز-?$� A:ره�� �e"ء ا�+e�رة ا�fأن إ �	ور ;,�	�رة ا�f�8وز إ
5
!$g أ.	: أن �� Y1: هmin ؟  
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  )��� 8: (ا�
	��� ا�ول

1. ��
   
� ا������ ا���ر�� ���ن ا���رة � ��� ���ن ا������ +�� ا�*(ء و &%$� �#�"� أ �%,&��%�"� .وه��� و 

2. ���  
3. ��
   

6�ف �34ز +��"�01 ��� ا�9%رة ا��3�+���8 ا������73 & ��": :P = UI 
4. ��
  

6�ف �34ز +��"�01:" ��� ا����0 ا��3�+���8 ا������73 & �� :E = P.t 
5. ��
  

 +��#�ل���ن  C� ��:�D��+Eن  t+���اط و  Pإذا آ�:< 
6. ��
  

 Gآ��H ك ���ن���� �&�$ J0�,�� ��%,&�K6���� 
7. ��
  

� �6ل ا����، ����ن ا���رة � ��� �*�� ا�"�%,&N7
 �"�#� �$%"+ O�"ا ا�Pا�*���� و ���� ه. 


  )��� 8: ( 	��� ا���Q=ا�

-I 

1. A
U

P
I 64,3

220

800 === 

2.  �,�%�30min = 0,5h  .إذن:  
kJJXWhXtPE 1440144000036004004005,0800. ====== 

3.   
kWhE  .أ  8184078488 =−= 
DHXix  .ب  95,7695,081Pr == 

-II  

1. δ3,33
03,0

11 ===
f

C 

 .AB ��رة ا�*(ء اR:*�ء ا�3,%$( � .2

  

B’ 

A’ 



3. S":  نT أو ��%�"� . TOA<fن ا���رة وه��� و 

 l��Q�ا ���	
  )��� 4(ا�

- Vا�����:  

smsmhkmv /17,4/
3600

15000
/15 ===  

-  ��,�Wا��%ة ا�t  ا����رة ��ا������X�9� �0 ا������ +�Y
Tء ا�Yرة ا��Zو إ: 

s
v

d
t 96,47

17,4

200 === 

� �#�وز إ�Zرة ا���ورإذن $�  t<1minو +�� أن � %�Hأ ����.  

 


